0000000o0oo
ogg2

(19970000)
00000700

ooocoooo O

00 RRPOODO0ODODOOD0ODDO0O000000O0OO0O00DO0OO0O000

X1 2 9 0
{( >Dx1+y251}u{<m>an:1,2,3,_._}
Y2 by

gogbdb0z=000000000000000000000

z?sint  (z #0)
0 (z =0)

2

fz) =

3
f(xy,20) = 23 — 3z2, + 2220000
1. grad f(—-1,1) 00000

2. (-1,1,4)0000000000000ODOO

4

1. (1+1z)2 =1-22+322+ ...+ (-1)"(n+1)z"...0000

2. f(wy,20) = 23 — 52329+ 22 —423 0 (~1,1)00000 20000000000
59

f(x1,22) = 23 — 3z122 + 23000 0
1. 00000000o0ooa

2. 0000000ODO0O0O0O0ooboOo0obOo0obOooobn



